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QUESTION 1

The following SAS program is submitted:

data work.test;

set work.staff (keep = jansales febsales marsales); array diff_sales{3} difsalesl - ditsales3;
array monthly{3} jansales febsales marsales;

run;

Which one of the following represents the new variables that are created?
A. JANSALES, FEBSALES and MARSALES

B. MONTHLY1, MONTHLY2 and MONTHLY3

C. DIFSALES], DIFSALES?2 and DIFSALES3

D. DIFF_SALES1, DIFF_SALES2 and DIFF_SALES3

Correct Answer: C

QUESTION 2

The following SAS program is submitted:
data work.test;

Author = "Christie, Agatha\\';

First = substr(scan(author,2,\\' ,’),1, 1);
run;

Which one of the following is the value of the variable FIRST in the output data set?
A A

B.C

C. Agatha

D. " (missing character value)

Correct Answer: A

QUESTION 3

The following SAS SORT procedure step generates an output data set
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proc sort data = sasuser.houses out = report;
by style;

run;

In which library is the output data set stored?
A. WORK

B. REPORT

C. HOUSES

D. SASUSER

Correct Answer: A

QUESTION 4

The following SAS program is submitted:

data work.empsalary;

set work.people (in = inemp)

work.money (in = insal):

if insal and inemp;

run;

The SAS data set WORK.PEOPLE has 5 observations, and the data set WORK.MONEY has 7 observations.
How many observations will the data set WORK.EMPSALARY contain?
A.0

B.5

C.7

D. 12

Correct Answer: A

QUESTION 5
The following SAS program is submitted:

data work.retail; cost = "20000\\'; total = .10*cost; run;
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Which one of the following is the value of the variable TOTAL in the output data set?
A. 2000

B. "2000\'

C. (missing numeric value)

D. " “(missing character value)

Correct Answer: A
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